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The Circular Flow of Income
I The Circular Flow of Income shows the flow of income

through an economy, going between firms and households.

Figure 1: A simple diagram outlining the main principles of the circular
flow of income



I The economy can be split up into firms and households

I Firms produce goods and services and the value of this is
known as National Output.

I Households purchase the goods and services that the firms
provide. This is known as the National Expenditure.

I Firms employ household members and pay them an income.
This household income is used for spending.

I Households also provide land, labour and capital for the firms.

At full employment,
National Output = National Income = National Expenditure



Impacts of Injections and Withdrawals into the Circular
Flow

Figure 2: A diagram showing injections and withdrawals into the economy



I An injection into the circular flow of income is money into the
economy. Injections come in the form of exports, investment
and government spending.

I A withdrawal into the circular flow of income is money going
out of the economy. This is often in the form of imports,
taxation and saving money.

I These injections and withdrawals mean that money can be
put into the circular flow of income, however it can also
escape the flow (or leak).

I If injections = withdrawals, the economy is in equilibrium.

I Net injections result in a growth of the economy, whereas net
withdrawals result in a contraction of the economy.



The Multiplier Effect and its Impacts on the Economy

Figure 3: The multiplier effect shows how the value an initial injection
into the circular flow can multiply. This means that the injection will be
less than the change in national income.



I The multiplier effect occurs when there is an increase in
demand, and an injection into the economy occurs.

I It shows how an increase in AD can result in a much larger
increase in national income.

I However, the size of the multiplier depends on the rate on
withdrawals from the circular flow.

Figure 4: This figure shows how the multiplier effect can increase AD
sometimes more than desired, resulting in inflation.



The effects of Marginal Propensities on the Multiplier

I The marginal propensity to consume (MPC) is the proportion
of each additional pound in a household that is used for
consumer spending rather than saving. The higher the MPC,
the larger the size of the multiplier. MPC can be increased by
governments by decreasing direct taxation, increasing the
disposable income of the consumers.

I The marginal propensity to save (MPS) is the opposite of
MPC, and a consumer’s MPC + MPS = 1

I There is also the marginal propensity to tax (MPT) and the
marginal propensity to import (MPM). MPT is based on how
much tax will be required of each additional pound, and MPM
shows how much consumers will spend on imports rather than
domestic goods and services.

I If MPT or MPM increase, this decreases the multiplier.



Calculating the Multiplier

I A formula that can be used to calculate the multiplier is

1/(1 −MPC )

I Since the marginal propensity to withdraw is shown by,

MPW = MPS + MPT + MPM

the multiplier can also be calculated by

1/MPW
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